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1. Two numbers are 10% and 20% lesser
than a third number respectively. By how
much percent is the second number
should be enhanced to make it equal to
the first number?

A. 10 B. 15

C. 125 D. 8

2. Ram and Shyam can complete a work
in 15 days and 20 days respectively how
much time they will take to complete the
work together?

4

A. 9; days B. 6 days
4 1

C. 8; days D. 75 days

3. 5 years ago, A’s age was double of that
of B. Their present age ratio is 4:3 . What
will be sum of their ages after 5 years?
A. 33.5 years

B. 27.5 years

C. 41.5 years

D. 55 years

4. Two cars move toward each other at a
speed of 12km/hour and 16 km/hour.
They meet after hour and 30 minutes.
How far(in km) were they form each
other?

A. 42 km
C. 68 km

B. 56 km
D. 35 km

5. The average of five consecutive even
integers is 20. The largest among the five
is:

A. 20

B. 22

C. 24

D. Can’t be determined

6. The ratio of the number of boys and
girls in a school is 2 : 3. If 25% of the
boys and 30% of the girls are scholarship
holders, the percentage of the school
students who are not scholarship holders
is

A. 36 B. 54

C. 60 D. 72

7. In the following question, select the
related word from the given alternatives.
Jailor : Prison : : Curator : ?
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A. Cell B. Museum
C. Warden D. Cure

8. If PAINTER is coded as EWLINAP, then
how will PEACOCK be coded as?

A. TALYGYK B. WALYGYK

C. WALYGGO D. WALGYYK

9. Pointing to a picture of a man, a boy
said, “He is the brother of the son of the
father of my mother.” How is the boy
related to the only sister of that man in
the picture?

A. Son B. Brother
C. Grand son D. Nephew
E. Uncle

10.Amit was born 5 years before Rakesh.
Rakesh is 3 years younger to Anil. If Amit
is now 17 years old, how old is Anil?

A. 8 years B. 12 years

C. 15 years D. 19 years

11. In the following question, select the
missing number from the given series.

9185

6|6
3|7
5|7

W~

A.9 B. 4

C.8 D.2

12.Biennial Multilateral Naval Exercise
‘MILAN’ will be organized at which place
in March 20207

A. Malabar coast

B. Andaman Nicobar

C. Visakhapatnam

D. Chennai

E. Lakshadweep

13. Tirur betel vine which recently
(August, 2019) has received the
Geographical Indication (GI) tag is betel
leaf of which state?

A. Andhra Pradesh

B. Kerala

C. Karnataka

D. Meghalaya

E. West Bengal
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14. Who among the following has been
conferred with the Pushkin Medal 2019
for her contribution to Russian studies
abroad?

A. Meeta Narain
C. Jayati Ghosh
E. Zoya Hasan

B. Suneeta Narain
D. Romila Thapar
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15. Which of the following company has
retained the title sponsorship rights of
Indian cricket team for five years?

A. Mobikwik B. PhonePe

C. Paytm D. Vodafone

E. None of these
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